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1. The third graders formed 5 relay teams. 1 student was on each team. How many students
were running the relay?

=

2. The dancers danced in 5 groups with 4 dancers in each group. How many dancers were
present in all?

=

3. 3 women went on a hike. Each woman carried a pack with zero (0) erasers in it. How many
total erasers did they have?

=

4. Mr. Nick made a scrapbook for his sister. The scrapbook had 5 pages. Each page had zero
(0) pictures. How many pictures were in the scrapbook?

=

5. Kevin has 1 pack of balls. Each pack has 5 balls. How many balls does he have in all?

=

6. Taylor bought 1 pack of pepsi from the store. Each pack has 3 cans. How many cans of
pepsi does he have in all?

=

Name:______________________________ Date:____ /____ / 2024     Start:____________   End:____________
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7. The store display had 2 shelves. The stock boy placed zero (0) boxes of apples on each
shelf. How many boxes of apples were on display?

=

8. 1 parent went on a hike. Each parent carried a bucket with 2 pencils in it. How many total
pencils did they have?

=

9. Vivian has 1 pack of marbles. Each pack has zero (0) marbles. How many marbles does
he have in all?

=

10. 4 kids went on a hike. Each kid carried a pack with 1 pen in it. How many total pens did
they have?

=

11. Jason bought zero (0) packs of pepsi from the store. Each pack has 4 bottles. How many
bottles of pepsi does he have in all?

=

12. Bob bought 4 cartons of gatorade from the store. Each carton has 3 cans. How many cans
of gatorade does he have in all?

=

Name:______________________________ Date:____ /____ / 2024     Start:____________   End:____________
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13. Chris has 1 pack of pencils. Each pack has 4 pencils. How many pencils does he have in
all?

=

14. The third graders formed 5 relay teams. 3 students were on each team. How many
students were running the relay?

=

15. The third graders formed 4 relay teams. 2 students were on each team. How many
students were running the relay?

=

16. The third graders formed 5 relay teams. 5 students were on each team. How many
students were running the relay?

=

17. 3 boys went on a hike. Each boy carried a box with 2 balls in it. How many total balls did
they have?

=

18. The dancers danced in 4 groups with zero (0) dancers in each group. How many dancers
were present in all?

=

Name:______________________________ Date:____ /____ / 2024     Start:____________   End:____________
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19. The third graders formed 4 relay teams. 4 students were on each team. How many
students were running the relay?

=

20. Mrs. Jessica made a scrapbook for her mother. The scrapbook had 2 pages. Each page
had 5 pictures. How many pictures were in the scrapbook?

=

21. Mrs. Emily made a scrapbook for her father. The scrapbook had zero (0) pages. Each page
had 2 pictures. How many pictures were in the scrapbook?

=

22. The skaters skated in 3 groups with 5 skaters in each group. How many skaters were
present in all?

=

23. Jack has 2 buckets of erasers. Each bucket has 1 eraser. How many erasers does he have
in all?

=

24. Harsha has 5 buckets of balls. Each bucket has 2 balls. How many balls does he have in
all?

=

Name:______________________________ Date:____ /____ / 2024     Start:____________   End:____________
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